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Section-A
grs-Jd
(Very Short Answer type Dcmw:onwv
(orfer @1y ST 99F)

Note: >3mémq. all questions. As per the nature of the question

A

Q.1

you demilit your answers in one word, one sentence
or maximum upto 30 words. Each question carries 2
marks.

8x2=16

o e 3 I AT ST ST ST A AEER O
91, U gy a1 fusman 30 gl # uRHEiHE i
U U9 2 3% FH D

(i) Plot the Legendre polynomial P, (x) versus x
Rl 9g0@ P,(x) & x & T4 RBA (plot) F:M

(i) Awave function is ¥ =sin(nx) cos (2x) e”'. Using
wave equation (in two dimensional), find the wave
speed.

TET A v =sin(nx) cos (2x) e mﬁ THIEHT
(faferfra) &1 ST HXA gT T =@ A HA

()  MSCPH-01/700/ 12

Q.12

L=T-U= ..|M| a’a’sin’ 0+ b’a’ cos’ @u_!aum@ sin

Obtain the equation of motion.

(B) The Kinetic energy of the bob of simple pendulum

H_. L P
is 7 ==ml"6" and the potential energy of the system

Obtain the

H = p,6—L of the system and hence show that for
Marks [8+8]

isV =mgl(l—cos0) . Hamiltonian

this system 7 =T+ 1/
(A) & g ar & fae s

L=T-U= HM. a*a’sin’ 0 +b’a’ cos’ & — mghsin6

S & Wy @1 T 51 HU et a 9T b I B

(B) T A B a9 B MR ol Twamauw e

Frma @ Refost oo V = mgl(1-cos0) & A A
M H = p,0- L Ia HA 70 09 Te s B
e a T H=r+r

(A) By using Rodrigues formula for Hermite polynomial

obtain the H?(x). H’(x)and then plotthe H’(x)versus
X



